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it contains all the pages in correct sequence and that no page/question is missing. In case of faulty

Question Booklet bring it to the notice of the Superintendent/Invigilators immediately to obtain a
fresh Question Booklet.

2. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admut Card
without its envelope.

3. A separate Answer Sheet is given. it should not be folded or mutilated. A second Answer Sheet shall
not be provided. Only the Answer Sheet will be evaluated.

4. Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided above.

5. On the front page of the Answer Sheet, write by pen your Roll Number in the space provided
at the top, and by darkening the circles at the bottom. Also, wherever applicable, write the
Question Booklet Number and the Set Number in appropriate places.

6. No overwriting is allowed in the entries of Roll No., Question Booklet No. and Set No. {if any] on
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unfair means.

8. Each question in this Booklet is followed by four aiternative answers. For each question, you are (o
record the correct option on the Answer Sheet by darkening the appropriate circle in the corresponding

row of the Answer Sheet, by ball-point pen as mentioned in the guidelines given on the first page
of the Answer Sheet.

9. For each question, darken only one circle on the Answer Sheet. If you darken more than one circle
or darken a circle partially, the answer will be treated as incorrect.

10. Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a question,
leave all the circles in the corresponding row blank (such question will be awarded zero mark).

11. For rough work, use the inner back page of the title cover and the blank page at the end of this
Booklet.

12. Deposit only the OMR Answer Sheet at the end of the Test.
13. You are not permitted to leave the Examination Hall until the end of the Test.

14. If a candidate attempts to use any form of unfair means, he /she shall be liable to such punishment
as the University may determine and impose on him /her.
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No. of Quentiens /Wt & wom : 180 .
Time/@W% : 2% Hours/w - T muhmh-

Bote : {1) Attempt as many questiona as you can. MMcqmamh.M
mark will be deducted for each incorrect anewer. Zéro mark will be awarded
foruchunattanptedq:mﬂnn

Mﬂdnﬁﬂmﬂlﬂsmamwh*mmt
R W 3% W wen ) G ikt TH W TRiE G 9

(2)‘ Hmmthannnedternmﬁnmmtobeapwmtetothew
answer, choose the closest one.

R R A W el Iw & fez v &, O Pezn wh Sw 31

L]

1. India has
.( 1) Socialistic Economy | (2) Gandhian Economy
(3} Mixed Economy - - (4) PFree Economy
wa A |
(1) wwrd b (2) b anfovaen
(3) ﬂlﬁm Frdsaren (4) v sl
(168)
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" 3. The moet important source of capital formation in India is

o

(168)

(1) houschold savings (2) public sector savings
(3) Government revenue surpluses (4) corporate savings
v # i Pmfe w1 weld wreget W R )
(1) A9 = (2) wniele 31 @ v

| (3) Wt am s | (4) Pl e

MMMmi-deominmt-

(1) transport ‘

(2) steel production

(3) commercial banking

%) ergmnised term lending financial institutions
wre ¥ wwlafe 1 TR Tl §

(1) v &

(2) ¥ =T #

(3) wfnfrs &%

(@) Sdwrha o 23 wreh wnlda fadle Twnd &

India’s wage policy is based on
(1) cost of living (2) standard of living

(3) productivity (4} value of money
Wi g A e W ameie &7 | |
(1) e R urR ® | (2) P\ WM W
(3) IuTwm W (4 mmi

2
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8. Md&efﬂﬂnginmﬁrm&g&eﬁm&muﬁc%ﬂhﬁ?

(1) Coatribution of houschold sector is the largest

- {3} Contribution of Government 'oectoer is the largest

(3) Contribution. of corporate soctor is the largest

{4) None of these |

WRY § v W v % Wy §, ﬁ:nhi%mmt?
(1} R 7 W e woffes §

{2) st ¢x W siwEw wifes

(3) el % W I i ¢

(4) IR % A B ff

The modern economy is not characterised by
(1) capital intensive mode of production

{2) development of money economy

(188

(3) development of Malls culture

{4) sclf-sufficient village system
mﬁ.ammm'ma-wmt?
mml%wm“ (2) e nloewram W Rww
(3)miqﬁwﬁw - (4) wrefnit andfor sywen

Whichofthefolhwmgunotameﬂmddmﬁngnauonalmme?

L] " b

{1) Income method ‘ | (2) Value added nﬂhpd

(3) WWF . (4) Mmm :
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10.

(168)

frrifie & A ¥ T SR S 0 AR T R
(1) s A . (2) 79 wad ff
3) AR . (4) Pafa-sra A

In our country, which of the following affects poverty line the most?

(1} Level of prices | (2} Production quantum
(3} Per capita income - (4) Quantum of gold reserve
ek dm %, Aot § 3 ¥ 00 Yo W vy an b7

R CE S @) R A

(3) R =i s (4) @ s @ W

Thelnfg'eotrwmueinlndiaiunbtainedﬁ‘om
(1) Sales Tax (2) Direct Taxes  (3) Excise Duties (4) None of these
wRa % R aftes e w6 Tt R

(1) MAwma - (2 vy A (3) SR T=F (4) 0w * ¥ N

Who, among the following, is the Chairman of 14th Finance Comnnmon?

(1) Dr. Vijay L. Kelkar (2) Y. Venugopal Reddy
(3) C. Rangarsjan ' (4) D. Subramaniam Swamy
frafsfom & @ ¥ 14iﬂuamht m‘!?
(1) mﬁmwtm | (2) waqmm
@) o m' . (4 o Wﬁ.ﬂ"?‘""‘
4
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11. 'The budget is presented to the Parliament on

13.

13.

14,

(168)

(1) the last day of February (2) 15th March

. (3) the last day of March 7 4) 1st April
e % vz dm fwn am R
(1) ==t & s R 2) 15 v W
(3) v & =fFwm fam 4) 1 = =
Thcmmmetaxmlndmu
(1) indirect and progressive (2) direct and proportional
(3) direct and progressive . (4) indirect and porportional
wRa ¥ e R | |
(1) wweg @ wivfe (2) We§ @ i

(3) e @ wifier (4) Iy W AW
Whichdtheioﬂoﬁngismthdﬁectux? |

(1) Wealth Tax (2) Income tax (3) Estate Duty (4) Sales Tax
mgawmumu

(1) @y W (2) (3) TY W (4) foft =

Which one of the following is not a characteristic of the population of a developed
(1} Low birthrate and low death rate

(2)° High birthrate and high death rate

(4) Low growiiienie®ll gligtidion
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frafaa # 3 N7 Rl v € w=dom H i 38 L0
(1) F= =t oo A= g = 2 MWW IAGYQ
(3) Wl wwrEm ® IW YW . (4) wwEm @ fm 3 @

~ 18. Which Plan gave emphasis on removal of poverty for the first time?

(1) Fourth (2) Fifth (3) Sixth (4) Seventh
5 A ¥ ogeht wR 70 ISEE W IR Ra wn Wy |

(1) <t (2) vl (3) wadt " (4) wwdt

16. The period of Twelfth Plan is

(1) 2006 to 2011 (2) 2008 to 2013
(3} 2012 to 2017 (4) 2013 -tt:_i 2018
wredl A w1 wfwe R

(1) 2006-2011 (2) 2008-2013 (3} | 2012-2017 (4) 2013-2018

17. FERA in India is replaced by

(1) FEPA {(2) FEMA (3) FENA (4) FETA
wra % u = shwaRa fen w2 | |
(1) % 2w (2) % zm (3) %z 9 %z

18. Finance Commission is constituted

(1) every year | ' (2) oum}n four m-*
N o S e A T
(3} once in two years (4) once in, Sye.yoate. ..
. ' {
(168) 6
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ﬁamwmﬁmt .
(1) ¥R v 2) W ¥ W™ W
{3) e_tdiv;-m @) qh'ﬂ_imm

'19. National Income Estimates in India are prepared by

(1) Central-Statistical Orgspisation  (2) National Development Council .

(3) Ministry of Pinanee . {4) Planning Coinmiasion
e ¥ ofl AR AR SR fem W |

(1} i wftwl ¥ T ;o (zjmﬁw*qu
(3 Rem om0 (4) ®wn wwm o0

20. Which of the following is not a plantation crop?

(1) Tea (2) Rubber (3) Coffee (4) Sugarcane
foaifen & @ O O o ff &7
(1) ww (2) oy 3) W (4)

2l. Which State stands first in the length of roads in our country?

(1) UP . (2 MP " (3) Maharashtra (4) Rajasthan

™R n # ¥-wm o aew @ wend 3§ v e W R

(1) Yoo (2) wedo (3) weny 9 YR

_ e : - B =B 1
(A4H) 7
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22. Qilt-edged market means
(1) bullion market
(2) market of Government securities
(3) market of commodities
'(4) market of metals
fiec-wa wam ¥ I R

{1) TR TR S (2) W oafiet W wAR
. (3) vt W AR | (4) wigHt W WK

23. In thé last one decade, which one among the following sectors has attracted the highest
foreign direct investment inflows into India?

(1) Chemicals, other than fertilisers
 (2) Services sector |

{3) Food processing

“ Telecommunication

e ¥ Red @& Tew #§, Owifes 98t F @ e w3 wiftes A e bR amefda

fam R 7
" (1) wrR, e % AR 2) ¥ @
(3) W @) TEw

34. Decimal coinage was introduced in India in the year .

. (1) 1850 (2) 1957 (3) 1955 4) 1960
e § TvneE ol Ret ® v T
(1) 1850 % (2 1957% . (3) 1955 # (4) 1960 %
(166} | J 8
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) Patna (2) Shimlg (3) Hyderabad  (4) New Delhi
i e R wewE i 4 .

Mwmd 2wt @) Womd @ R
(1) Khorana | e (3 C. V. Raman

{3) Mother Tereea ' (4} Amestya Sen

wigw & W wche yn wew ol 27

(1) yow (2) WMo #o v (3) wex Nw @) swd ¥
m_wa%mam&i-'

(1) New Delhi - (2) Namik {3) Mumbei. (4 Kanpur
wiln i s w yowe § :

() »f N ¥ (2) R % B) i ¥ (4) wAgR &
The former aame of State Bank of India was _

(1} Centwal Bamk of India © (2} United Bank of India

3 hpuﬂnc?kotincﬁn | (4) People’s Bank of India
weln 22 &% W o ™ w )
(}liwh*m | 2) Tedn €% s fix

OF etioe O s w @ e € s iR

(2
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29. The currency notes are printed in

(1) Mumbai . (2) Nasik (3) New Delhi {(4) Nagpur
w3 A3 opmem R |
(1) gout & 2) TR J 3) +# fafh § @) e #

30. Notes of which denomination has the portrait of Mahatma Gandhi printed on them?
| (1) 1000 rupee  (2) 500 rupee  (3) 100 rupee (4) All of the above
fra. o & A W e it @ Rer o e X7
(1) 1000- %o (2) SO0 %o (3) 100 %o 4) IR o w

31. ‘The banks are required to maintain a certain ratio between their cash in the hand and
total assets. This is called :

(1). Statutery Bank Ratio (SBR) (2) Statutory Liquid Ratio (SLR)

(3) Central Bank Ratio (CBR) (4) Central Liguid Reserve {CLR)
ﬁdmwm'ﬁmmtmwﬁﬁumm_m-mtlﬁw
wrm } _

(1) duls &6 sgme (WohoARo) (2) ANAE TN FYTE (oMo NTe)

(3) %A &% g (Wolonwo) (4) ¥ wWa T (RewEeame)

33. The Reserve Bank of India was nationalised in the year

(1) 1935 (2) 1945 (3) 1949 (4) 1969
e Pk #% w1 T g
(1) 1935 # (2) 1945 # . (3) 1949 & (4) 1969 #
(168) . 10
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. Feseign currency which has a tendency of quick migration is called

(1) hot currency | . (2) soft currency

(3) gold currency | {4) scarce currency

et 7o fewlt W wrer @ Tt @R R, SR W € |

(1) @ wh (2) @ R | (3) =t W= 4) TEw Bl
m«wﬁmmmu-ﬂmh'lndh?, 2 g o

(1) Maise (3} Wheat (3) Sugarcane - (4) Rice

miﬂn—dmﬂhh.iﬁﬂ.!?

(1) W= @ | (3) ™ | (4) =

Dalal Street is situated at

(1) Peris (2) Mumbai (3) Lemion (4) New Delhi
T W et '
(1) ¥w ¥ (2) gout & (3) wa & @ + g 3
Cerporate tax is imposed by

(l) ‘State Qovermment (2) Central Government

(3} Local Government {4) Both (1) and (2)

fRohe o eower T @

(1) T ER T @) ¥ wex T

e

(3 il WER TR (1 W (2) A T

11
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37. OICEl is.
(1) an Indian Share Market
(2) a defence research organisation
(3) an atomic submarine
(4) Economic Policy of USA
‘MoRodofosnfo &
(1) o wohs R R @) © w A @

(3) w% oh wgwh @) TowEore @ anfib AR

38. Aam Admi Bima Yojana provides social security to
{1) all labourers in rural areas
(2]*anl.ﬁndlm hbourcralivinghﬁuw poverty line in rural arcas
(3} all labourers in urban areas

(4) all labourers in both rural as well as urbag areas
W A @ dwen wEiw g R e R

(1) wnlor gt & it afdt W

(2) oo @ & af i il B, N Wl T AN R
(3) velt BN ¥ aft afvwt W

(4) A, it W wel A H W A )

{168) 12
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. Who u the pru;nt RBI Governor?
(1) D. Subbarao (2) Y. V. Reddy
{3) Arun Ramnathan {4) Raghuram Rajan
Aefonrfo & wWwm vl Wy §7

(1) Qo geanwm (2) wdo Mo (3) W TN (4) gTH T

(1) Japan (2) Germany (3) USA (4) UK

wRE ® ARwem Al SR fw 4
(1) aIm ¥ - (2) wfh } (3) 1#@«@ E (4) Qo¥o R

41. Globalisation has posed major challenges for

(1) big producers (2) small producers
(3) rural poor | " {4) None of these
T R

TR T @) R et &
(3) arftm 7w} ¥ T (J)Miz?diqﬁ

42. Which of the following is an example of foreign trade barrier?
(1) Foreign investment (2) Delay or m d‘mdn
(3) Tax on_imports . (4) F«'d.: *

(168) | 13
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frifes - ¥ R =R ww = w6 e 27
(1) faxeh Rfdm (2) T = freea @
(3) IRM W W ' (4) faxet 2wt

43. Rcmaﬁngbarﬁcrsurresﬂicﬁmmbythcﬁovmmtiamlled
(1) liberalisation _ (2) investment
(3) favourable trade (4) free trade
TR T T T Al W v W R TR W e W

(1) Jzhw (2) fafam (3) ITEN =R (4) R AR

44. The most common route for investments by MNCs in countries around the world is to
(1) set up new factories |
(2) buy existing local companies
(3) form partnerships with local companies
(4) Both (1) and (2} above
oo T w & AR 3xi & AR wA 7 W e W T §
(1) :&mﬁiﬂwﬁam
(2) e wria A B W owA
(3) wurm wafat & we s W@
(4) 3w (1) @ (2) ¥ |

{168) 14
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In which year IRDA was constituted?

(1) 2000 (2) 2001 (3) 2002 (4) 2003
wl (IRDA) v fom af @ wf?

(1) 2000 # (2) 2001 % (3) 2002 E (4) 2003 #

Which of the following public sector companies provides insurance cover tq exporters?

(1) ECGC (2) NABARD (3) SIDB: (4) IRDA
fraifen wdafs 83 A FafEl § ¥ A fafoel | O oW 2w wh 27
(1) fodtohonfto (2) (3), fovalt - (4) wf

The main feature of the National Agricultural Insurance Scheme is to insure which of
the following?

(1) Life of the farmer
(2} Crop of the farmer

" (3) Animals who are used in agricultural activities

(4) Land of the farmer :
i % @ fvew W0 W o s dm e ® gon A &7

(l]ﬁntmm ' | 2) fovm © @ =
(3) Rl % e WA = (4)%&1&!1

When Custom Duty is levied according to the weight of goods, it is known as
(1 Revenue Duty (2) Excise Duty

15
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81.

(168)

W AW S TR ¥ TN ¥ AR W W a7n R, AR e E

(1) sTem Y (2) TR Y™™

A Letter of Credit is produced by
(1) an exporter
(3) custom authorities

wr o wegn fen amn R

SEBI was established in
(1) April, 1992 |
(3) December, 1982
Th 6 wen ®

(1) %=, 1992 &

(3) fwm, 1982 #

Blue Chip company means-
(1) Government company
(2) public limited company

(3) non-profit making company

(3) ffte gew

2
@)

- (@)

@)

{2
(4)

@)
4)

(4) company giving consistent high return

16

an importer

ehipping company

e
TRt ot T

January, 1985
April, 1972

wal, 1985 ¥
w1972 &

(4} wePEN T
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Whichdthbfdlﬂwingilnotaapemﬂatorinthestnckmhmge?

(1) Brokers {é]ﬁuﬂ » (3) Bear
ﬁﬂiﬁui&ﬁqmmqutﬂ
(1) ¥ (2) 3o + (3) W=

Consumer Protection Act (COPRA) was implemented in

(1) 1985 (2) 1986 (3) 1987
i T affm (COPRA) @y fisr

(1) 1985 ¥ 2) 1986 8%  “(3) 1987 #

First Stock Exchange was set up in India in

(1) Kolkata ' {2) Mumbai (3) Delhi
we 4 e weu fafwa ol fen +
(1) wremwm # 2) put & (3) R &

Apcesding to Census 2011, India’s population is

8 101 ceore (2} 111 crore (3) 121 crore

17

4)

4)

)

(4)

(4)

4)

4

Biag

®n

1088

1988 #

Chennai

¥t §

131 crore
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87.

88.

{1685)

2011 © FPFT ¥ FFER, KA B wrem R
(1) 101 W3 - (2) 111 W 3) 121 Wy (4) 131 =3

L

According to Census 2011, Uttar Pradesh is the most populous State. Which of the
following is next populous State?

(1) Bihar "(2) West Bengal
(3) Maharashtra (4} Andhra Pradesh

2011 0 TP ¥ FJER, IW WO wAiw Fwie wen R R § R dewm =
FFTEN IO e T R?

(1) famr (2) wffm T {3) wewwE (4) FAPASRW

According to Census 2011, which State has the lowest literacy rate?

(1) UP (2) Bihar (3) MP (4) Odisha
2011 € FFvF & IFER, fAem S X aen o R
(1) Yoo (2) famr (3) - Wodto (4) aIfxm

Which of the following is a method of credit control adopted by the Central Bank?

(1) Margin money (2) Subaidy
(3) Open market operations (4) Hypothecation
Faffm & @ -0 w Afy, ¥ &% oo e i % R st b 27
(1) =Rl w=h o (2) A
(3) @ Iom N Ak (4) W
18
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0. Who is the Dy. Chairman of Planning Commiesion in India?

{1) Manmohan Singh ' (2) P. Chidambaram

(3) Montek Singh Ahluwalia (4) Pranab Mukherjee

wea # Arem smim & AR Ywda W §7 |

(1) e e . (2) o Ry
‘w)whﬁem @ v et

60. PFirst Regional Rural Banks was established in |
(1) 1897 (2) 1947 (3) 1969 - (4) 1975
e afs el ds € voen @ =

(1) 1897 % (2) 1947 ® (3) 1969 #® (4) 1975 &

6l. if x=a-by=b-c and z=c-d, then the value of x* +y® +2° is

(1) zero (2 xy= (3) 3xyz @) -3xyz
lﬁx=a—b,y=b-c1ﬂ_l z=c-d @,!ﬁx3+y3+za ﬂﬂﬁ!l

(1) @) xyz ‘(3 e @) —3xyz

82 K +x®+xT +xC+xSext+lin divided by x +1, the remainder is

{1 1 (2) zero {3) -1 4) 7

W x? +x®+x’ ;xﬁ +x3+x*+1 W x+1 8 s »t, M Vv gm

2 U 2) 48 @ -1 - - . M. 7. -
0 19
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63. The number (10" -1) is divisible by 11 for

(1) ail values of n (2) even values of n

(3) odd values of n’ {4) n is multiple of 11

n % fb W & AR Fn (10" -1), 11 ¥ R @7 )
(1) n & aft vl & frd ' (2) n Wy wem R

3) n Pww wwm | 4 n 11 w e R

64. About number of pair/s which has/have 16 as their HCF and 136 as LCM is/are

(1) one such pair exists (2) two such pair exist

(3) many such pair exist (4) No such pair exists

wom & e m B Rem WoWo 16 TW HWode 136 X7

(1) @& 3= (2) A g 3) =t gm @) af 3=

68. LCM of 3/4, 6/7 and 9/8 is
3/4, 6/7 aWM 9/8 ® ToWo R

(1) 18 ‘2) 3 (3) 3/56 (4) 9/28

66. Mu;fmthmeeyanmmmm.‘m change after every 48 sec, 72 sec and 108 sec
: ge simultaneously at 8 : 20 : i i
simultaneously at : Y S theywill s dhxige
(1) 8:27:36 hr ‘ (2) 8:27:24 hr

(3) 8:27:12 hr (4) 8:27:48 hr

(165) : 20

L]
gcollegedunlae
India’s largest Student Review Platform

T



14P/283/28

W o & yuul § e B 48 sec, 72 sqc PW 108 sec ¥
-iuuﬂs:m:mﬂwa.ﬁﬁﬁ.ﬁi‘u;&mmmt"ﬁm ¥

(1) 8:27:36 W (2 8:27:2¢ w1 .
@ 8:27:12W 4) 8:2748 WA
7. If radius of a circle is increased by 1%, what is the increased percent in its arca?

W R e R Bow 1% m TRk R am, B el fwsa & e B
(1) 2% @ 20% 0 @)% @) 11%

r N manmﬂ&mWGmng 11
W.Themt-mmmdmminmhﬁv:hyw
‘it w32 YR v 8, W wafn gy w11 R R ) wwen # gg IR @
W % ¢
() o021 2 0021 (3 21 @ 21

89. The circular wire of radius 42 cm is cut and bent in the form of rectangle whose sides
minthcratioofﬁ:s.ﬂ:emaﬂerlideofthcmeh(!=%2_] .

™ Jwwen W, el Ao 42 cm §, W TR ¥ W @ AW F W § chaffs R T
M‘gﬂﬁ:stmiﬁlmﬁﬂaw-t(x=¥]

(1) 30 cm . @ 60 . (3} 72 cm (4} 132 cm

. m“diir_dmm“inthemﬁoofl:lmm&thﬂ'rnuﬁami-
PG ud = mw 1:2 ¢, N 73 el W g R
N 1:4 (2) 3:8 (3 1:2 4 1:¥2

{Sad 21
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71‘

74.

(168)

A train of length of 150 m takes 10 sec to pass over another train of length 100 m long
comai::;&'nu'oppolitedirecﬂon.lfthenpeedofthe 1st train is 30 kmph, the speed of
second train is

w 150 m @it 27 Rt fm & et wf 100 m @A WG 3 W 10 sec ¥ 70 3® ¥ W
RAH U REAFT RNV mph B, AW IO ML

(1) 54 kmph (2) 60 kmph (3) 72 kmph (4) 36 kmph

Tarun bought a TV with 20% discount oh the labelled price. Had he bought it with 25%
discount, he would have saved Rs 500. At what price did he buy the TV ?
(1) Re 10,000 (2 Rs 7,500 (3) Rs 8,000 (4) Rs 9,000

o W Aedle AR TF A 20% W R woaw 1 R 3@ W 25% W ® Wy dm, N
W 500 % B wwa A T Aofle Ww ¥w W wlint?

(4) 9,000 %

(1) 10,000 %o (2) 7.500 %o {3) 8,000 %o
(n (o 34 S) .( 99?) .
2-—12-=1|2-= ~-—| is equal to
. 3/\ S5\ 7] \ 999
f NS N ' f
2_£ 2_§ 2...§. _2.,1) R R
. 3\ SJ\ 7/ \
5 3 1001 1001
—_— 2) — 3} — 4) ——
(h 999 @ 1001 ) 999 X 3

Which number should replace both the asterisks in (é}x[1;1)=l ?

[;1]“[1;1)=l ¥ 26 ol & R R W3- dem wh W e 2

(1) 63 (2) 21 (3) 3969 (4) 147

22
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78, Por what value of X will the equations 2x- 3y‘"4i0 and 4x +Ky+7 =0 represent

puraflel lines?
xi_ﬁnmt_ﬁnm 2x.—-3y-4=om 4x+xu+7=omhﬁnﬂhﬂﬂr
3 @ -3 ® -6 4 6

I o et

ﬂ mmw&xﬂnmn +xy‘-mwuadmm
K Whin & g wibew 9x2 4 Ky2 =25 u-wlﬂldm?
ms @9 @ 25 @ 5
77. The average of S consecutive odd numbers g A od end e is
L LR PYSPE PUR |
(1) S(a+®) @ Slasbecrdse)

@) asbecedre/d | (4) q+4‘ i

78. The average age of a family of 6 members is 22. i the age of the youngest be 7 years,
- the average age of the family at the time of birth of the youngest was

(1} 15 years (2) 16 years (3) 164 yoars {4) 18 years

v vl & s AR @ e oy 22 w W W @ oy 7 W B, W I T
¥ hax @ v oy §

) 15 = @ 16w (3 164w (4) 18 =

ﬁ. ﬁcm&mwdthe ﬂ[uathl-ﬂlla+h+¢=0il
P “-’+k+e-otﬁwmt

b ¢ _c
m 2 @ -2 B < 0

(168) .23 - .10y
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80. 'nmrootsoftheequaﬁonax’+hx+c=a_nre equal -if
2 wfww ax? +bx+c=0 & @ WAR &, A
(1 b2 =4dac @ b*=-4ac  (3) b?=ac @) b2 =-ac
. 81. In two consecutive numbers 1/4th of the smaller one exceeds the 1/5th of the larger
one by 3. The large number is . . |
domraond T PATen W 1/4 e Hen ¥ 1/5 @ 3 it B) o wem R
(1) 64 (2) 63 (3) 66 (4) 65

82. If the commission of 10% is given on the market price of a Book, the publisher gains
20%. If the commission is increasqd to 15%, the gain is .

AR e v gEw WA W, 10% s @ g 3w 8, A 3@ 20% am ¢w b R
o W 15% W & I7, A I w Pw '/m '

(1) 50/3% (2) 40/3% (3) 81/6% 4) 91/6%

83. If2A=3B=4C, then A:B:Cis
R 2A=3B=4C, M A:B:C %

(1) 6:4:3 (2) 2:3:4 3) 4:3:2 {4) 3:4:6

84, AtartkmhcﬁllnflbytwopumpaAandBin4 hours and 6 hours respectively. The full
tank can be emptied by a third pump C in 8 hours. If all three pumps are turned on,
the tank will be filled in approximstely
(1) 3 hours 18 minutes (2) 3 hours 26 minutes

(3) 3 hours 42 minutes (4) 3 hours 48 minutes

(168) 24
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w_hﬁ!ﬂams-%mmﬁw'sd.immmt
;ﬂc;:lﬂéﬁm:WMHWQI**‘“WHN!;?W&:“!ET’;‘%‘”?

(1) 3w 18 R # (2)'31@25,&:%
(3) 3 W 42 fo & (4) 3 " 48 o &

&, Amnmummlﬁhnmddmnmﬁsh.n' ing S hours i
et & taking ours cach time. The

wuﬁm%ﬁvﬁalekm' SwR % 7w W ¥ :
— s L : P 28 km P A s ™ §w

(1} 1 kmph (2) 2 kmph (3) 12 kmph (4) 1S kmph

6. j&,,B,C'entu-hmapmwpmm&ﬁ_m;:-gzg.m&4monthnA
: ;;;nmnedhiltlharebym*lfthetotdwcﬂthhmilﬂnﬁl,ﬁoo.ﬂ:ednredBin
-profit is : - |

(1) Rs 2,100 (2) Rs 2,400 (3) Rs 4,500 (4) Rs 4,000

ABC® i wm ¥ 7:4:9 & sgw § el §1 4 MR AR A 39 3w F 50% @
Wumb R Tgaam 21,6005 ¢, * 5w sm d ' .

(1) 2,100 %o (2) 2,400 %o 3) 4,500 %o (4) 4,000 %o

87. g‘wwagedmmmuth. lan‘:mdmhﬁthnn.averagcmof
years join class, thereby decreasing the average age of the class 4 years. Th
origina] strength of the clags is ‘ | > )

W vow w1 @ shen Ay 40 W B 12 A Mok & Fm A A 0 w0 @ e oy
AW wh R AR Al @ w32 W R, D e A @

ey @ 1 @12 B, ™ SRR

b )

L]

(108 ‘ ' 25 MT.0)
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88. Thenumo{thhaqumul‘twonumben'inﬁsnnd.quareoftheirdiﬂ'ercnmiﬁaﬁ.me
prodict of the two numbers is

ﬂﬁmﬁtdnﬂn&stwﬁ,mmaﬁaﬁhﬁmaﬂmt
(1) 58 (2) 16 3) 32 @ 104
4 A 4

; 1 1 Y
89. _3+[IE,+L(3+J§J )

iiequalto

1"*'1“4}"1T

_3 +('f3.1 ' 3 +3) \3-3)).

(1) ° 2) 1 3) 3 4 3+V3

e R

90. A contract is to be completed in 56 days. 104 men were set to work each of them
wﬁng&hnuuadny.hftu%dmﬁﬁdthewkilmplewd. How many
- additional men may be employed, so that the work may be completed in time, each
man now working 9 hours a day? 2

w s W 56 it # @ wen &) o § 104 Y W W B R R AR 8 W ¥
w2 € 30 R ¥ va wm oW 2/5 s @ g R e @ el 9 R i W & Im
A, fend oot ot aw R Wl a5 W TR U W

(1} 60 (2. 70 (3) 42 . (4) 56
91. Amonhymdangeuedpole&ﬁmetruhigh. He ascends 3 metres in 1st minute

and descends 1 metre in second minute. He again ascend 3 metre in third minute and %
descends one metre in fourth minute and 30 on. In what time he reaches the top? i

(1) 104/3 minutes (2} 36 minutes
(3} 33 minutes {4) 203/6 minutes

o MR W R 36 N 3w W v fre § 3 e g @ shogw B 1 B
M foww a8 A AR e 3 A wgm @ i e B 1 i R Rras wn R wew
sm oft Zead wrht 81 R wTe TR W e F el R w afdme

(1) 104/3 fime (2) 36 fme (3) 33 fme (4) 203/6 fme

(168) 26
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In what proportion must i
e 2 us mtubemixadwithqmttogainSO/S%byaeﬂingitatthe

. miﬂﬁﬂzi_ﬁwmﬁ&dmmuﬁﬂmmmm%mm

(1) °2:5 2 1:5 3) 1:6 (4) 3:7

o e e e wn @ A w 4 '
assmmtism'mtmvmw!mmm“?imm'

(1) 25 | @) 16 | (é) 15 @ 20

_hhﬁmthnsminmmmuinﬁeinm.uthemmiainm

by'S% it would amount how much?
{1} Rs 992 (2) Rs 1,056 - (3) Re 1,112 (4) Rs 1,182 -
soo'toMmmmwadimuﬁmtnﬁmmmnﬁiwﬁ

- w, W fes B

R (@ 800 % (3) 1,200 % oy gigd

(1) 992 % (2) 1,056 %o (3 1,112 %o (4) 1,182 %o

(1) - Rs 1,000 (2) Rs 800 3 Re 1,200 (4 Rs 900

Vo Q% 10% W W R, Ao o d 7w 132 v wglx s W 7
.‘ :j"‘
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Turn odd number out from the following :
fraftrfar Wit & @ wy dom e AR N IEPHRTRAD

96. 41, 43, 47, 53, 61, 71, 81

(1) 41 (2) 47 (3) S3

97. 9, 28, 65, 101, 126

(1) 28 (2) 65 (3) 101

Insert missing number in the following :
et weit § s wr W iy

98. S, 12,9, 16, 13, 20, ——

(1) 17 @ 24 (3) 21
9. 3,5 8 — 17,23

(1) 1 (2) 12 3 14
100. 7, 26, 63, , 215

(1} 100 @ 1;?4 3 150
(1885} 28

@) 81

(4) 126

4 118
4) 110

{4) 200
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The !‘nllowing table shows the production of food grains {(in million tonnes) in a
State for the period from 1988-89 to 1992-93 - ‘

freafi mftvs § 1088-89 @ 1992-93 7% % Raht 7 w1 W™ 3R (10 W )

- ﬁln R
vour Production in Milion Tonnes # o
et Rite Matze | Other coreals |
1988-89 | 380 "1;75 150 3%0 1250
198990 | 600 220 234 400 1454
199091 | 560 240 228 420 1448
1991-92 | 680 300 | 380 40 | 1820
199293 | 860 260 340 500 | 1960
Total | 3280 1190 1332 2130 | 7932

Readtheabwetabléandmnrknﬁcka&ninstthecorrectanmineachofthe
following questions : '

T it 7w A T T S 0 TR D i

101. During the period from 1988-89 to 1992-93, what percent of the total produgtion is the

wheat? .
waft 1988-89 ¥ 1992-93 ¥ N W WA TA IRA W fAeEn e R7
(1) 426 - (2) 431 | 3) 413 - (4) 408

103. Dwring the year 1992-93, the percentage increase in production of wheat over the

o R gem 7 1992-93 # N & s & AR R @ R f R
(1) 264 (2) 209 " (3) 236 @) 187
{168 29
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103.

104.

108.

In the year 1991-92, the increase in production was maximum for

{1} wheat {2) rice (3) maize (4) other cereals

. af 1991-92 ¥ frw I & I # aftmam I o X7

1)y W (2) 9= (3) W 4) ¥ W

During the year 1990-91, the percentage of decrease in production of maize was
¥ 1990-91 ¥ vk ¥ A { e i © #h of 27

(1) 263 (2) 2:56 @ 27 @) 247

The increase in the production of the other cereals was minimum during the year
o s & Jmv g AR A oad gE 47

(1) 1989-90 2) 1990-91 (3) 1991-92 @) 1992-93

Directions :  (Question No. 106-109) Choose from the four alternatives the word that has

106.

107.

108.

109.

(168)

nearly the same meaning to the given italic word.

" (1) Angry | " (2) Jealous {(3) Callous {4) Cowardly
Sullen

(1) Bad-tempered (2) Melancholic  (3) Dull (4) Envious
Sty ’

(1) Modest (2) Clumsy (3) Cunning . (4) Revengeful
Bully | |

{1) Intimidator (2) Bold (3) Cheat {4) Strict
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Direotisns : (Question No. 110-118)} Select from the four altematives the word that means
: the opposite to the given italic word.

110. Sanguinary

(1) Meclancholic . {2) Bitter (3) Indifferent (4} Coward
111. Deep

(1) High (2) Shallow (3) Low (4) Plane
112. Fragie

(1} Confident (2) Strong (3) Optimistic (4) Stupid

113. Abandon
(1} Possess {(2) Remember {3) Reward . (4) Like

Directions : (Question No. 1i4-118) Choose from the four alternatives the word or phrase
that best completes the sentence.

114, than the train left. -

{1} No sooner had he reached the station
{2) As soon as he reached the station

(3) After he had reached the ataﬁop

{4) Before he rcached the station

136. Cam you plemsc look this word —— in the dictianasy?
(1) at (2) after @ w @

-

(168} 31
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the New Year.

116. His friends have decided to assemble

(1} on. (2) in (3} at (4) from
117. Few people in the area know him as a poet, ——?

(1} do they (2) don't they (3) do not they . (4) won't they
llif This note is written ———— pencil. ‘

(1) with @ by @ in (4) through

Directioms : (Question No. 119-133) Choosc from the four alternatives the correct option
that best expresses the meaning of the idiom given in italics.
119. A wolf in sheep’s clothing
(1) coward (2) hypocrite (3) simpleton (4) fool
120. To keep off the wolf from the door
(1) to keep off violence {(2) .to keep off starvation
(3) to fight the evil away (4) to remain honest
131. 7o eat the humble pie
(1) to yield under the humiliating circumstances
(2) to suffer

(3) to live a miserable life
(4) to overwork

122. To bury the hatchet

+ (1) to stop hostility (2) to hide one's feelings
(3} to forget one’s sorrow (4) .to avoid reality

(168) a0
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Directioms : (Question No. 123 and MIdmtlfythepm'tof!peech of the word underlined

L]

133.

l “-‘

128.

126.

in the following sentences.

ﬁe;mmmwwbe&ue.

(1) Adjective ° (2) Preposition  (3) Adverb (4) Conjunction

Father comes home at S o'clock.

(1) Coniunction {(2) Adverd (3) Noun (4) Preposition

Chooese from the four alternatives, the passive voice of the following acntmce
Itut:meto-hutupthelhop

(1} The shop should be shut up now.

(2) It is time that shop should be shut up.

(3) It is time for the shop to be shut up.

(4) Let the shop be al_:mt up now. ' >

&me&omthefourdtanaﬁvuthemectophmwhmhbectexpmmthefoﬂmg
séntence into indirect speech’ :

hduaaul,‘&hanweﬂutthetmpletoday?’
(1) Indu asked whether they would visit the temple that day.

() Indu enquired that if they would visit the temple that day.

(3) Indu said that they should visit the temple that day.
!4) Indu proposed that they would visit the temple that day

_Nhthhreofmochoftheword chmrmthoogtm?

""Mm.d:kmthechmrmthemm' -

(168)

() Oxymoron (2) Synecdoche  (3) uemm" ‘” t&"“-pn-

33 .T.0)
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128. A long 'narraﬁve in verse telling the exploits of a great hero is called
(1) Ballad (2) Epic (3) Ode (4) Allegory

129. Which of the following is the correct option for the cage for chickens?
(1) Sty (2) Stable (3) Coop (4) Fold

Directions : (Question No. 130 and 131) Choose from the four alternatives the word that
can be substituted for the given group of words.

130. One who studies the life and habit of birds
(1) Ethnologist {2). Ecologist {3) Omithologiat (4) Cosmologist

131. The scientific study of population _
(1) Anthropology (2) Demography (3) Graphology  (4) Lithography

Directions :  (Question No. 132-135) Read the following passage carefully and answer the

questions that follow by choosing the most appropriate option from the four
alternatives.

Although religion does not inhibit the acquisition of wealth, although it does not
hold up large fortunes as evil, the tenor of its teaching, by and large, is to induce an
attitude of indifference to worldly things, things which gratify one's lower self and
keep one engrossed in money-making. The student should be made to realize that
the real goods of life are spiritual, love of things of the spirit and service of one’s
fellowmen, joy of an ordered disciplined life. These are blessings money cannot
buy. What is wealth before such things of the spirit? Of all religious teachers Jesus
Christ has dealt more comprehensively than any other with the problem of wealth
in all its aspects. He may be called the greatest exponent of the science of the
wealth. With only four words “Blessed are ye poor!” he changed altogether the
values which man attached to human existence and human happiness and
acquisition and possession of wealth, Real bliss consisted, he taught, not in riches
nor in anything else which the world regarded as prosperity or felicity, but in the
joy and happiness derived from being at peace with one’s fellowmen through
perfect love and fellowship and selfless service and sacrifice.

aes) e

L]
gcollegedunlae
India’s largest Student Review Platform

T



14P/283/28

mcwrd'poor'mthehpad’theﬂuterhadaqlnmalmgmﬁcance—thepoor
80 far as thcy were poor in spirit, humble before God, simple, God-fearing,
teachable, faithful. it could surely not have been his intention to hold up

destitution and privation as a blessing in itself. Thet would have turned kife into a
, terrible ordeal and it would have been heartless to exhort the poor to believe that

money was not necessary for one’s sustenance or the joys and blesaings of life.
Even things of the spirit cannot be had without money. Extreme poverty is as liable
tolmdtoﬂwstmntwnandmpovmahmento{themulasmmewmlth Not
outward poverty but insward apirit was what Jesus Christ desired and demanded.
Every religion asks a man to regard his wealth as a trust. Giving in charity for the
rehdofthemandpuhhcwelfaremnntmerelymactofmmpamon not merely
a religious duty, but also an act of social justice. All the gospels of wealth are based
mthemnthnmtﬁmptthatnnnemdmmabwhueurmherentnghtto
property. Everyone holds it in trust from God to promote the good of mankind. All
rights to private property are subject to this primary obligation to God and man.

133. What does it mean that religion does not inhibit the acquisition of wealth?
{1) It encourages people to acquire wealth
_(2}' It does not consider acquiring a large fortune ‘sin
3) ltankspeoPletoahunwealthl |

(9) it glorifies poverty

133. What does the author mean by spiritual living?
(1) It means abandonment ufanytl;ingphyﬁcal
(é) Itm:::lprayingmdwm-ahipping(}qd
L] ltupﬁ:ﬁringaﬁfeofrenunciaﬁnn

P LI )
¢} It means love and service of one's feliowmen

(o8 35
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134. What do you understand by the statement “Every religion asks a man to regard his
wealth as a trust”™?

(1) Ownership of property gives individuals strength, confidence and zeal to work for
the common good

{(2) Everybody has a right to private property
(3) None can claim an absolute or inherent right to property
(4) Property is indivisible |

138. Identify the part of spe¢ch of the word ‘Though’ in the first sentence of the paragraph
(1) Prcpm_:iﬁun (2) Adverdb (3) Conjunction (4) Pronoun

Directions : (Question No. 136-142) The given sentence is divided into three parts
numbered (1), (2) and (3). One of these parts may contain an error. Select the
crroneous part. If you think there is no error in any part of the sentence, select
the option number (4) which indicates ‘No error’.

136. If I will press / the button / will it start to record?. No error.
K 2) @) @)

137. Engineers hope that / they solved the problem / with the engine now. No error.
(1) _ {2y (3) 4)
138. What will you do / if you were attacked / by a bandit? No error.
(1) (2) (3) 4)
139. [have not written / any letter to my friend / since I have left the village. No error.
(1) (@) (3) 4)

(168) 36
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140. A good quality about Mahendra / is that./ he bdnvu gentiemanly with others. No error.
(1) | (2) s 3 “)

141, mpu'ltntlur,whqhmmglnm,fhuheenmﬁnghthenﬂuy.lformmy-ﬁumﬂom.
(1) - b (2) . {3) 4

142, Bvuymmdmmmmt[atthefuﬁvﬂﬁdﬂfﬁrﬁemﬂﬁpofmm. No error.
(1) | 2 | @) (4)

Bisections : (Question No. 149-48) In cach of the follawing questions, the first and the last
parts of the sentences are numbered as 1.and 6. The rest of the acntences are
lplitlntofourpwtlmed'?’,‘Q’,'R’M'B?.Mfuurparthmnutg‘mmh
combinations is correct. - ;

143. 1. Onepmmmimkcthatmﬁﬁypeoplehmmﬂeitthia

P. it would be a very good thirig |

Q. whether they worked hard-

R. they have thought that

3. ifmhndmlytheupeamoﬁnto{mnhey
6. or lived quietly.

‘(3 PQSBR (2 RPSQ 3) PSRQ | (4 SPQR

(168) | 37 N (P.T.0,
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144. ' 1. Unquestionably a literary life is for the most part an unhappy life,
and, if you have any talent,

because if you have genius

m O

there are so many cares and worries accidental to the circumstances of men of
lctters

S. you must suffer the penalty of genius
6. as to make life exceedingly miserable.

(1) QSPR 2 RQPS 3) SRQP 4 QPSR

148. 1. me,mthgtwu_mmauukmiﬁtomem

1 will take the occasion to expiain. my intention

what you have to expect from me

hs to your future plan

and make your plan accordingly.

(1) RPQS 20 QPRS 3) SPQR 4 RSPQ

o » O W

Directioas :  (Question No. 146 and 147) Choose from the four alternatives the meaning of
the term given. :

146. Ultra vires
(1) extremely dangerous (2) beyond power

(168) 38
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147. In cognito
(1) without being known by others
(2) silently ‘
@ triumphanty
| {(4) suddenly

Disostions :  (Questien No. I&lﬂ%m&mhhuﬁm&hvuth:mrmcturum:
of the sentence given.,

148. The village committee is divided on the issuc of. the dand of the Deity.
{1) Thevlth_pmmitteehdiﬁdedabwtthcﬁ.meo‘tthehn&o(thebeity.
(2) The village committee are divided on the issue of the land of the Deity. -
(3) mevﬂhgemmitteemdividedtheinuedthehndufthebcity.
(4) The village committee is divided regarding the isaue of the land of the Deity.

140, The secretary and headmaster of the school were present at the meeting,
(1) TbmmthoftheMmmtbymemeeﬁng_.
{3 The socretary and headmaster of the school was present at the meeting.
{3) The secretsry and headmaster of the school was present on the meeting,

') The svaretary and the headmaster of the school was present at the meeting,

(bO8) a9 (P.T.0.]
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180.

Never I saw such a aight.

(1} Never 1 saw such sight.

(2) Never did I sec such a sight.
{3) Never I did see such a sight.
{4} Never did | see such aight. - |

L & &

D/4(168)—1900
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